ﬂé Risolvi i problemi misti (addizioni e sottrazioni)

Nome:
Trovail valore mancante in ogni operazione. Risposte
1) ?+792=912
1.
2) 888+ 7?=976
2.
3) 996=985+ "7
3.
4) 250=7?+27
4,
5) ?=513+ 459
5.
6) 810-11="?
6.
7) 737-?=428
7.
8) ?-501=61
8.
9) ?=622-413
9.
10) 226=383-7?
10.
11) 887=?-7
11.
12) 660+ 246="7
12.
13) ?+10=962
13.
14) 913+?=951
14.
15) 854=775+7
15.
16) 973=7?+235
16.
17) ?=249+ 472
17.
18) 754-76="7
18.
19) 932-?7=311
19.
20) ?-603 =269
20.
. 1-10 [ 95] 90| 85|80 | 75| 70| 65|60 55 | 50
Matematicall = o Coreshedsit 11-20[45[40[35[30] 25| 20] 15/ 10] 5




ﬂé Risolvi i problemi misti (addizioni e sottrazioni)

Nome: Soluzioni
Trovail valore mancante in ogni operazione. Risposte
1) ?+792=912
1 120
2) 888+ 7?=976
2 88
3) 996=985+ "7
3 11
4) 250=7?+27
4 223
5) ?=513+ 459
5, 972
6) 810-11="?
6. 799
7) 737-?=428
7 309
8) ?-501=61
8. 562
9) ?=622-413
Q. 209
10) 226=383-7?
10. 157
11) 887=?-7
1. 894
12) 660+ 246="7
12. 906
13) ?+10=962
13, 952
14) 913+ ?=951
14, 38
15) 854=775+7
15. 79
16) 973=7?+235
17) ?=249+ 472
18) 754-76="7
18 6/8
19) 932-?7=311
20) ?-603 =269
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ﬂé Risolvi i problemi misti (addizioni e sottrazioni) Nome:

Trovail valore mancante in ogni operazione. Risposte
[ 621 309 11 209 38 )
562 872 678 223 952 L
120 799 894 906 79 ,
| 157 972 738 88 721
3.
1) ?+792=912 2) 888+ ?=976
4.
3) 996=985+7? 4) 250="7?+27 5.
6.
5) ?=513+ 459 6) 810-11="7
7.
8.
7) 737-?7=428 8) ?-501=61
9.
9) ?=622-413 10) 226=383-7 10.
11.
11) 887=?-7 12) 660+ 246="?
12.
13.
13) ?+10=962 14) 913+?7=0951
14,
15) 854=775+7? 16) 973=7?+235 15.
16.
17) ?=249 + 472 18) 754-76="7
17.
18.
19) 932-7=311 20) ?-603 =269
19.
20.
- Semplificato 1-10 [95]90]85[80| 75] 70[65] 6055 [ 50
Matematical = o restsit 11-20[45[40(35[30[25] 20[15[10[ 5 [ 0
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